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4 6 112 P§H WZE@G) = m- B 12.97 *TK 4 4 289 H/; iz (3) =W MAET 13.02
5 7 2730 "Il EERE(1) = & =@ 12.99 5 2 2051 Fd FOME(D) ERE B 13.12
6 4 1028 A WEE() = E- Tl 13.20 6 3 1239 /B WERR(2) = E - =S 13. 14
7 8 918 M BZ(2) = EE I 13. 66 7 1 1606 kM F(2) & A 13. 28
8 2 1652 KA HTB) = &E-rh 13.77 5 1634 O BUR(©Q) = &M DNS
1348 (. +0. 5) 1448 (. +0. 9)
NERL V= Fun - K4 Bz gk aAV) NEQE V= fun' = K4 & Fogk aAvb
13 646 HAE RKZE(R) = @E-mHE® 13.13 1 4 1815 Wk =K@ = mE-EEd 12. 56
2 2 933 BA FEEGB) = m-gmEnn 13.23 2 1 926 W E£E& @) = &-psEe 13.38
37 1093 HH O KEf(3) = ®E-dET 13.25 33 1213 A FEH(©2) = & EAEd 13.43
4 5 1645 I Q) = E MR 13.42 4 5 2055 Bl WEE(1) = m-pmEinn 13.65
5 6 14 ek RZ2(2) = ®m-=Z% 13.49 5 7 2285 LEP EeAE(1) = - 13.95
6 4 919 [tk M@ = mepsmEie 13.80 6 2 872 LiE () = - BT 14.03
1 1214 k¥ FK Q) = &-mEag DNS 6 2359 LAY EEAEQ) = meEAs DNS
8 935 At FEER(3) = m- g DNS 8 1037 A1 KRES(2) = ®-fitip DNS
1548 (40, 1) 1648 (.:+0. 4)
JERL v=v  dun = K4 P& Fofk Avh JERL V= dun' = K4 il Fofk TAvh
1 2 1607 filE #(2) O A 12.58 1 4 1644 BH %2 = H MR 12.79
2 8 1631 Hix M&KE(2) = &-/MzEh 13.11 2 2 920 A HiF(2) = mepmEd 13.01
37 2180 JEfE FEA (1) = ®-gEld 13.27 3 1 2379 JbH MESF(D = & - 9iEeh 13.31
4 1 875 HAH EIE(Q) = &E- BT 13. 54 4 6 1643 Y2l BEK(2) = E- MR 13.34
5 3 2360 K7 (1) = @ kG 13.75 5 8 2574 mM FEZA() = & MEH 13. 54
6 5 2157 7 &5 (1) = - T 13.92 6 3 647 /K BESF(3) = E-sEt 13.83
76 2159 Bo 4G (1) = & -smmed 14.10 77 1790 LA K@) = E=- @ 14.35
4 1640 R AEQ) = E-MEE DNS 8 5 2163 = AR (1) = E - s 14. 57
17%8 (. +0. 5) 18%H (. +1.9)
JEDL V- dun - K4 & Fldk apvh NERL V=2 Fun - K4 i EC M)
17 1208 TA k(Q) = &=-mAd 12.61 1 5 386 RiFH #K(3) = ®-prssd 13.01
2 5 930 kH ZE£(3) = m-pmEiw 13.04 2 31046 BT IR @3) R 13.35
3 2 1630 JbEH HEX() = E-nMre 13.23 31 1083 B FZE(1) = E-#HET 13.62
4 1 644 BEFE 1K(2) = E - REh 13.28 4 4 929 B it (3) = m-pmEn 14. 09
5 6 2161 FEH FHA() = E-mES 13.57 5 6 1087 fhyy FAW(Q) = E-dET 14. 30
6 3 1818 ¥ED MEKEA(B) = & - &Ed 13. 64 6 2 868 |LUA HEEEF(2) = E - Bumd 14. 38
78 1240 Wil K@) = ®m- =% 14. 07 7 7 1088 My KIR(2) = E-mEEH 14. 45
4 1635 i BRI = & MR DNS 8 1809 Ay ZEUE(2) = &= EED DNS
19#H (al: +2. 5) 20%H (A +2.2)
ESE V-v v = KA Eile] gk aAvh JEGL V= fvn' = KA EilE] gk apvh
1 4 1637 HH HFUL(Q) = &E-MER 12.70 1 1 924 &% A ANQ) = @ pmEie 12. 88
2 3 1813 AH FHi(3) = m-mkEp 13.48 2 2 1036 T HAKEIQ2) = m-ubssd 13.62
3 2 2838 k¥ ML = MR 13.76 3 6 110 K 1-(2) = E - E 14. 06
4 1 1022 WA fHAEIQ) = &- kg 13.79 4 4 1085 [UA FHQ) = E-#HET 14. 14
5 6 2259 [h@ ®ER() = E-#EE 13.91 5 3 1030 &I Q) ERERE L 14. 24
6 8 1021 A EQ) = @t 14. 14 6 5 1027 ¥EH AHEA) = ®-mls 14.39
77 1023 HEPA O BEFR(D) = - mbe 14. 28 7007 99 #H KA () = &E-EWT 14.72
8 5 103 b #Hc(2) = ®E- T 14. 65 8 2256 WH ZEAEQ) = ®- @S DNS

JLIl DNS:Ri5 *TKEZHY




258 H-100m

IR 2RI ek (K)) 10. 62 = TR ) AL (2019) 7TH5H 10:15 #{hl—x
B{hV-%  31#A
2148 (Jal: +0. 4) 22%H (L: +0. 9)
NEAL V= Fun - K4 i gk aAvh NEAL V= FunT - K4 i Figk apvh
13 2056 FH =EMAI(1) = @m-pseie 13.28 1 6 2794 /Nt 1D BT 13.84
2 2 2793 BH —%() = &=-EwWF 14.23 2 1 1041 KV KFa(3) = &-ztshh 14.03
3 8 1031 #/K B ER(Q) = & nlg 14. 62 32 2047 W)l fEE(D) = m-pmeine 14. 34
4 4 102 FERE FEE(2) = & Ewew 14. 64 4 8 20564 iy ZIR(1) = megsEiE 14.55
5 7 1033 B FEAER() = - nlgd 14. 66 5 5 1024 JIRE A1) = m-wbsp 14. 58
6 1 2281 fex kK EH(1) = &-basd 15.10 6 4 1029 (Lo EBREQ) = m- b 14. 63
5 1627 =M # (1) = & MR DNS 77 1025 Mg wezE(1) = & st 14. 63 *TK
6 1791 deAt BEEA(Q2) = E- @ DNS 8 3 1629 [UA RK(1) = &E-Mrd 14. 74
23%H (B +2. 3) 24%H (. +1.3)
NERL V= Fun - K4 Bz gk aAV) NEQE V= fun' = K4 & Fogk aAvb
1 11020 WA (1) = @ mtse 13. 64 1 31793 AT EEE@B) = @ @ET 12.97
2 6 2050 JEH HEE (1) = megmann 14. 25 2 8 2387 &E KMQ) = =-9Rh 13.87
35 1026 Bl = (1) = & Ed 14.25 *TK 3 4 1633 WA BE(2) = & MR 14. 28
43 2046 K EHE (1) = me g 14.79 4 1 2383 WA BEEE(L) = E=-glAh 14. 58
5 8 1626 P (1) = E-hrE 14. 94 5 7 2283 HREF #(1) = F - BHRH 14. 80
6 7 1833 BL #HIH() = E-E 14. 94 *TK 6 5 2378 A% FHEQ) = &-#Feh 15. 28
7 4 2576 [UAR FHIEEQA) = E-AMre 14.99 76 922 Y #EHIQ) = megmEn 15. 61
8 2 1032 FHO EBEK(2) = &b 15.03 8 2 641 IUF FHifE(©2) & - ymeh 15. 64
25%H (L:+0.7) 263E. (.:+0. 2)
NEAL V= Fun - K4 i gk aAvh NEAL Vv FunT - K4 i gk apvh
1 6 2575 VE)Il SRAKEA(L) = &M 14. 04 1 7 1210 AT FREE(R) = - EAd 14. 15
2 7 2053 /MK OHETER() = - s 14. 54 2 2 2791 EpEi BAIQ) = E- e 14. 86
3 32045 WO FRE() = w-wmEin 15. 08 3 1 2052 b4k EZe(1) = &-psseie 14. 90
4 4 2380 AL #H QD = & - WfR 15. 52 4 32044 [ (1) = - EEi 15. 50
5 5 2673 AH HIKQ) = E- Eud 15. 56 5 5 1047 Wt BESR(3) = m- dits 16. 63
6 2 921 FHF Q) = m-gmEe 15. 64 6 4 2788 /R RERG (1) = & Ewep 16. 98
7 1 1094 #4E =ZMG) = &=-dhd 15.96 7 8 2048 KM EHE() = w-gmEnn 17.02
8 8 2049 [T MEHI(1) = m-pmE 16. 26 6 2158 AR f&Kik(1) = m-smES DNS
27%H (. +1.3) 28%H. (. +0. 3)
NIEGE V= v = KA e FoEk aAvh NEAL V= Fon' = K4 & FoEk aAvb
1 5 1216 i EAQ) = @E-EAd 13.11 1 8 793 HEH MKAQ) = E-Ead 13.55
2 1 2844 BrO K2 = E- Eheb 13.27 2 6 2392 FA JE(D) = B 15.25
3 3 1808 KH 3H#i(2) = E - ERET 13. 44 33 2279 fHEE BEME(L) = & pawsp 15. 58
4 6 1810 ¥ KHEQ) = =& 13.67 42 2394 o FRE() = & EES 16. 02
5 4 2377 [ FWEQ) = ®E- 9D 16. 43 5 5 2398 [UT @®AS(1) = - &ED 16. 08
6 2 1091 FA& Q) = &-mEET 16. 45 6 1 1084 ¥EH R (1) = &=-#Ekh 16. 32
708 2397 iR OEHFQ) = E- D 18.13 77 2393 A #L(1) R L 16. 83
7 1216 E4y BEIR(2) = & EAd DNS 4 2395 BLAY iy (1) = & &R DNS
2940 (Jal: +0. 8) 304H (AL: +0. 9)
NERL V= Fun - K4 i gk aAvh NEAL V= Fun - K4 i gk apvh
1 1 1612 sk §HH(3) = @-ami 12. 08 1 31603 JHIFM BEA(2) = - 12. 66
2 4 1795 [UF BAKE) = &E-#Ee 13.10 2 6 1807 VN EEA(2) = ®-&ES 12.84
3 5 800 MM WAK(3) = HEH-ER 13.37 3 8 2182 WHH  KE (1) w AL 13.50
47 1212 ARHE O FHA(Q) = m-EA 13.50 4 5 1811 gaK HEXK(@) = ®\-&ED 14.10
5 3 2795 J\H #(1) = E - ER 14. 88 5 4 2260 yEO AYR(1) = E- @ 15.01
6 6 2261 MM FEIEQ) = & - #EEH 16. 09 6 7 2257 BEA (1) = - T 15. 74
7 8 2286 MR EERL() = &E-mamd 16. 65 72 2374 i FoEE() = - widh 17.06
8 2 2282 KM BE}(1) = &E-wmd 17.02

JLIl DNS:Ri5 *TKEZHY




258 H-100m

IR 2RI ek (K)) 10. 62 il s (B ER) A FNIo4E (2019) 7TH5H 10:15 #{hl—x
B{hV-2%  31HH
3142 (R:+1..0) B A 5L —R BNSHL
NEAL V= Fun - K4 i) gk aAvh NI fyn - K4 i o WAV M
1 5 2357 AfE BoE(l) = =-E&T 14.73 1 160 KT EAQB) = & &P 11.06 +0.7
2 7 2400 BEFn #E(1) = W R 14. 95 2 19 wE #3@) = &-wfp 11.07 +0.7
3 4 1812 %R #E(2) = E - R 15. 05 3 927 XER K—(3) = m-pgmEin 11.34 +0.7
4 2 2280 kI EQ) =W - R 15. 40 4 928 CEE HAK(3) = m- s 11.37 +0.4
5 8 2255 A E/NQ) = ®E-#EEd 15. 48 5 1814 HiiFH ¥ (3) = & - s 11.37 +0.4 *TK
6 6 2376 P HEME() = & #RE 18.28 6 877 AK Srff(2) = &-#hgs 11.56 +0.7
31817 P ZER(3) = # - EEd DNS 7 121 K7 #HAREG) = & Eep 11.57 +0.4
8 881 HAf ZHE(3) = i - R 11.58 +0.7

JLIl DNS:Ri5 *TKEZHY



HH 2242 +100m

R g ek (KD 11.96 v LGN ) BN 6 4 (2024) 7H5H 11:10 J4hv—=%
BAAV-%  21%A
1#H (E:+1.1) 2%H (:-0. 8)
NEAL V= Fun - K4 i gk aAvh NEAL V= FunT - K4 i Figk apvh
1 4 308 #fF 1-F@Q) [peanpt 12.59 1 6 888 M #FZKEQ) = =-pasd 13.21
2 6 1676 FHHE JAAEG) = m- MR 12.92 2 7 895 AR (THA(3) = & mumEd 13.25
3 5 804 KPH BEEI(2) = E-EX 12.98 34 1622 (L3 HSE) = m-ams 13.29
4 8 1340 O MRG) = ®-xE# 13. 06 4 1 806 [UAR ®x(2) = ®E-ExTh 13.49
5 1 1679 K7 FifE(3) = &b 13.24 5 3 1673 Il EEF(3) = E-/hMrE 13.55
6 2 652 A WEER) = &E-mmEd 13.25 6 2 896 fAME MLLN(3) = - R 13.57
77 1754 WK WRE) = #=-zAh 13.30 78 889 |hm @FE(@Q) = &=-pumd 13.57 *TK
3 809 A MEE(3) = W Ead DNS 8 5 1623 [LpE EE(B) = m-amLs 13.58
3%E (J.: 0. 0) 44H (8:-0.7)
NIEGE V= v = KA Bz FoEk aAvh NERE V= Fun' - K4 & Fogk aAvb
1 2 1488 fL &=AFL(3) = & - HiAH 13.27 1 5 1341 WA #J5(3) = &- Xih 13.51
2 5 1669 I FE(2) = E MR 13.35 2 4 1680 At FEEB) = E-Mpp 13.55
3 4 1494 (LW PAG) = E- R 13. 46 3 3941 HME 4K (B) = m-pgmEih 13. 59
4 8 1668 HiH fEA(2) = E-Mrp 13.61 4 7 1485 JbH XA B) = #=-wRw 13.61
5 6 1840 AH BLUVAQN) = &E-ERT 13. 66 5 2 1235 "l FLPB) = @ EAH 13. 66
6 7 2063 [UH MEEER(1) = wm-pmEn 13. 86 6 6 5624 HEF HM2(3) = m-wsikke 13.78
7 1 1618 ikt FmE(2) = &m-gmuh 13.89 71 1805 LEJR BHE(2) = E-wmED 14. 00
8 3 939 i FER(Q2) = moemen 14. 08 8 8 144 MEFT KHR@B) = E-Ewep 14. 08
5H (:-1.8) 6%H (:+0. 1)
JBAL L=y dun - R4 Bilc] Alfk aivb JBAL V=Y fun - K4 EilE] A
1 4 1493 HuE FEAG) = &-vmad 14. 02 1 2 1059 T ERQ) = @-stsh 13.72
2 3 1051 #EH AHA) = E-mls 14. 05 2 6 1664 O Z &V (2 = m@m-/MMrm 13. 86
3 6 808 PHAF ME() = #E-ER 14. 19 31 805 BJII KE(2) = #=-Ex 14. 14
4 8 803 BEE EkA(2) = @R 14. 22 4 8 140 ¥ HEAEG) = @\ B 14.16
5 1 147 AR &HRGB) = & B 14. 24 5 3 1058 /MK EE(2) ERE 14. 25
6 7 1487 Wk ERE@) = ®E- 9 14. 25 6 5 300 HEF A @) = ®-mxsd 14. 37
7 5 1621 HL FE#3) © - frE L 14. 34 7 4 651  #WE®R) = - 14. 39
8 2 893 HH MHIE(Q) = - mEd 14. 40 8 7 1251 gk BB = ®E-=E=S 14. 69
THEL (j&L: 40. 9) 8#H (L: +4. 2)
NELE V=v  Fun - K4 e FoEk aAvh AL V=v  fun - K4 & FoEk aAvb
1 71666 FHAT B (2) = E - MR 14. 06 1 6 2366 JEH FEE() = ®m-ELd 13.67
2 2 1060 i BEE(2) = & EbEd 14. 21 2 2 132 I FikwE(2) = E- Eeb 13.83
3 8 1233 BE HH@B) = ®m-ELH 14. 24 3 5 146 K LF< () = &E- BT 13.95
4 1 807 R &) = E-Es 14. 28 4 1 802 My feE(Q = =-Ex 13.97
5 6 1063 FlF ERMEQ) = - b 14. 31 5 3 898 kil XJH(3) = - 14. 03
6 3 1663 [LUH (1) = E MR 14. 32 6 7 949 B WAHE®O) ERE S 14. 04
7 5 1620 FEJII EF(2) = m-pELs 14. 36 78 943 JEH () = ®-pmEis 14. 31
4 897 WEAT B (3) = - B DNS 4 1065 BEFn Fi1(3) = m- st DNS
o%H. (L:+2. 8) 1048 (L +0. 3)
JBAL L=y dun - R4 Eile] Alfk aAvb JBAL V=Y fun - K4 EilE] A
16 2190 & Emh() SO - 13. 84 1 31667 EEE B (Q) = m-/Med 13.56
2 8 937 JJMR @A) = m-pmein 13.96 2 2 940 EA EEF(2) = m-pgmEuw 14.03
3 7 1838 VEMH  FEzk (1) = #-ER 13.99 3 5 1229 HH B (2) = #-EAd 14. 22
4 5 2370 HEEF OVpz(1) = - EAF 14. 08 44 2060 HIA  THEE(L) = me s 14.76
5 4 1824 [\ 5% (3) = ®m-&EET 14.09 5 6 1624 (L)1l FFE(3) SOE - AELg 14. 89
6 2 306 AT RBIA() = m-—gmw 14. 12 6 8 138 MuE (2 = - R 15. 16
73 143 L FAGB) = E- Bk 14. 25 77 1665 HE Q) = ®m-Mmeb 15. 20
8 1 2287 Wk BHIAITQ) = &- g 14.72 8 1 891 KM H¥EQ) = &\-wumd 15. 38

LI DNS: K15 +TKEEHY *TLEFELL



th 22722 % 100m

IR 2RI ek (K)) 11.96 1G] A F0 6 4F (2024) TH5H 11:10 #Mhl—x
BAAV-%  21%A
1148 (Jal: +1. 6) 1248 (AL:-0. 4)
NEAL V= Fun - K4 i gk aAvh NEAL V= FunT - K4 i Figk apvh
1 4 1617 A kFL(Q2) = =-amud 13.74 1 4 136 dbf =72 (2) = & EWh 14. 61
2 8 1250 MEM MkiE(3) = & ZEmS 14. 31 2 2 1057 #%E E (D) SR e 14.78
31 2391 HpE FHQ) = E-9Re 14. 36 33 301 HE FEA@B) = ®-mmEs 15.00
4 7 1825 MWL VEEQ) = &-&Ef 14. 56 4 6 2061 L FEQ) = 15.01
5 5 890 |Lth EE(2) = &-paET 14. 63 5 7 945 VEH BURT(3) = m-pgmEh 15. 25
6 2 2584 K FEH(Q) = m-Mre 14. 77 6 1 1061 A&ZM KA (@) = m-dE s 15. 36
7 6 1232 Ml ERE(2) = &4t 14. 83 7 8 1050 HY§ FE() = ®-wted 15. 42
8 3 1480 [A A (2) = &=-wRH 14.88 5 944 /NE FWL () = m-pmEnn DNS
1341 (8:-1.3) 1448 (0. 8)
NERL V= Fun - K4 Bz gk aAV) NEQE V= fun' = K4 & Fogk aAvb
1 4 1056 MW EWHA) = &-mbwd 14.51 1 7 1049 T HEPEA(1) = & - Lhsbh 15. 14
2 5 948 MiJFL EE(3) = m-pmEid 14. 77 2 5 2800 &0 fEHI(1) = & Ehkd 15. 23
3 3 2581 M HEEQ = & MR 15.31 3 3 1670 k| fEHR(2) = &R 15. 29
4 701482 Kfi LAE(2) = & -y 15. 42 4 2 2062 TFAT  F (1) = m-wmEin 15.33
5 2 2290 (1) = - BHED 15. 55 5 1 947 RMF RZ2(3) = m-pmEin 15. 45
6 6 1625 Il ARAHO) q AL 15. 63 6 6 2583 BFO A (D) = MR 15.51
7 8 1053 HE  TRL() = wme mbgs 16.51 7 4 1055 WESF EEER(1) = W mts 15. 54
1 1837 & IR = ER DNS 8 8 2058 B AEQ) = m-pmEih 16. 00
1548 (Jal:-0. 3) 1648 (AL:+0.7)
NEAL V= Fun - K4 i gk aAvh NEAL Vv FunT - K4 i gk apvh
1 4 942 HiL HEGB) = @m-pmEe 14. 74 1 2 2389 i DB = - W 15. 08
2 5 2806 VMO A (1) = &E-Epep 15.07 2 6 1839 fhEp EHH(1) = ®E-EzF 15. 33
3 6 2808 M A1) = &E- Emh 15. 08 3 5 946 /NE ORI (3) = E-gmEih 15. 41
4 8 2371 i {-THEQ) = & EED 15. 59 4 4 1616 2 2AH(©2) = & A 15. 54
5 7 938 HA FHME(2) = m-gmen 15. 60 5 7 894 [LlF HMKHE(3) = &b 16. 16
6 1 1819 T FHzE(2) = &E-LEp 15. 63 6 3 1098 LA Z2(1) = &E-#ET 16. 45
72 2057 BE P(1) = w-emEun 16. 06 8 2066 KT DxFEQ) = - emEim DNS
8 3 892 A EHEQ) = ®-pmp 16. 07
17%8 (. +0.8) 18%H (. +2. 3)
NIEGE V= v = KA e FoEk aAvh NERE V= fun' - K4 & FoEk aAvb
1 6 2194 A 5 (1) = ®-pmEbd 15.13 1 2 1826 TN L3EQR) = &-&EH 15.43
2 8 2802 KT HEQ) = =-Ewp 15. 31 2 3 2288 HRS Mk (1) = &E-paEth 16. 04
3 5 2065 BH BHAEQ) = m- o 15. 86 37 2804 =i Zooix(1) = - E 16. 15
4 3 1231 &% OM0 () = m-jEgd 16. 25 48 2799 HA () = E- Ewep 16. 22
5 4 2064 iHJE OERTY () = ®- s 16. 77 5 5 1052 iR EE(1) = m-atse 16. 54
2 2059 fHEE W\Wh2a(1) = m-gmEiE DNS 6 6 2403 miEH  MME() = & EES 16. 83
72067 I APF(3) = m-peEie DNS 74 2741 WPEE EBAQ) = ®m-=EG 17. 64
19#H (al: +2. 5) 20%H (Al:-0. 1)
NERL V= Fun - K4 i gk aAvh NEAL V= Fun - K4 i gk apvh
1 6 2798 [ ERAR(L) = E- EHeD 15. 40 1 8 2810 LA HEEE(1) ERESTE 14. 58
2 7 2582 MK MPI(1) = &R 15. 45 2 3 1230 [H fER(Q) = &E-FEEG 15. 27
38 2796 ¥O BBEH() = & - Eikeh 15. 47 37 1822 I EZE(2) = E- & 15. 60
4 3 2390 B HFENRQ) = &-#HfD 16.52 4 5 2291 MM ANIKR(1) = & pamsp 15.79
4 4 2578 A FIEEE (1) = EH- MR 16. 52 *TL 5 4 2797 VHAH FQ) = &-ERp 15. 96
6 2 2404 &M AR = -k 16. 53 6 2 2805 F 2£(1) = & - B 16. 25
7 5 1054 #HZH E Q) © O g 17.37 76 2803 ZHIL ER() = &= Eweb 16. 60

LI DNS: K15 +TKEEHY *TLEFELL




HH 2242 +100m

W AR (K)) 11.96 R BN R) 45 Fi1 6 4F (2024) 7TH5H 11:10 #{h—x
BAAV-2% 214
2140 (0. 1) B A 5L —R BNSHL
NERL V= Fun' = K4 i) BLEk TAvb NI fyn - K4 i o WAV M
1 72193 I WEE(Q) SO WL 14. 58 1 308 A= =F3) DOE g 12.59 +1.1
2 4 2289 B A1) = & 15. 62 2 1676 #H JREAE(3) = & /MR 12.92 +1.1
33 2807 AE BledE(L) = E- Eeb 15.94 3 804 K¥§ WemL(2) = &E-mRw 12.98 +1.1
4 5 2801 ¥ FEQ) = E- Tk 16. 03 4 1340 o #HE@G) = & xd 13.06 +1.1
5 6 2809 mi¥x EBE(Q) = &= 16. 07 5 888 JHM TKE (1) = & - bHEd 13.21 0.8
6 2 1821 A LBE(2) = & - kD 16. 54 6 1679 K7H  AifF(3) = E-/MEd 13.24 +1.1
7 8 1099 M FEEMLQ) = &-EEh 19.19 7 652 B MEER) = & 13.25 +1.1
8 895 AEA (=#HA(3) = i - R 13.25 -0.8

LI DNS: K15 +TKEEHY *TLEFELL



